
Naam: 　　　　　　　 Datum: 　　　　　　 Score: 　　　

Rekenen van exponenten (negatieve exponenten)

7 + (−10) =(−2) (−1) + (−1) =(−2)

7 + 10 = 1 − (−3) =0

(−7) + (−8) =2 8 + (−4) =(−2)

7 + 1 =(−1) (−10) + (−9) =(−1)

3 − (−3) =(−2) (−7) + (−4) =(−2)

1 − 3 =2 (−6) − (−3) =2

3 − 3 =2 8 − (−10) =2

(−4) + (−9) =2 (−3) + 3 =(−1)

(−6) − (−7) =2 (−2) + (−10) =

(−7) − 9 =(−2) (−8) − 3 =2
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Naam: 　　　　　　　 Datum: 　　　　　　 Score: 　　　

Rekenen van exponenten (negatieve exponenten)

7 + (−10) = (− ) = (−9 )(−2)

49
489

49
48

(−1) + (−1) = 0(−2)

7 + 10 = 17 1 − (−3) = 40

(−7) + (−8) = 412 8 + (−4) = (− ) = (−3 )(−2)

64
255

64
63

7 + 1 = = 1(−1)

7
8

7
1

(−10) + (−9) = (− ) = (−9 )(−1)

10
91

10
1

3 − (−3) = = 3(−2)

9
28

9
1

(−7) + (−4) = (− ) = (−3 )(−2)

49
195

49
48

1 − 3 = (−2)2 (−6) − (−3) = 392

3 − 3 = 62 8 − (−10) = 742

(−4) + (−9) = 72 (−3) + 3 = = 2(−1)

3
8

3
2

(−6) − (−7) = 432 (−2) + (−10) = (−12)

(−7) − 9 = (− ) = (−8 )(−2)

49
440

49
48

(−8) − 3 = 612
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